SuUuMPO v Third party verified

. E P D Environmental Product Declaration
[ ]

JAPAN Confromance with

VERIFIED | 1SO14025 ] 15014040 | 1SO14044
SUMPOREESAN O3 L (SUMPO EPD)

IRIS OHYAMA Inc.

OAZ07 v kF175000N GFW-5
Raised Floor Wood Core 5000N GFW-5

J—=<ILINZIL

FOER

RO/ NIl
EHES RIEEEE NS IR EEA ZhEAR EPDY1T
SuMPO-EPD-2512-51-1 2025/12/18 2026/1/6 2030/12/17 I -TEREPD
KEHINBARRARE
BHNOAE R EPDIZIRSEHARI CHoTH, EH F LA ABAR I BBIERBYET,

EPDORFTIRE LU B IEERER T BCIELL T ERERL TLESL,

1S021930:2007 https://ecoleaf-label.jp/epd/search




F§&ES) SUMPO-EPD-2512-51-1 SUMPO

Environmental Product Declaration for Raised Floor Wood Core 5000N GFW-5 . E T T s aRan
VERIFIED
OEKIER
>70J5L1ER
T095 L% F5R SUMPOEREZINITOIS I
TOISLARL-5~-  —MEEEAY AT IR EHEEEE
FriE#t HREBTFREXA#ET-14-8 KANDA SQUARE GATE 4F
1791k https://ecoleaf-label.jp

> GPI-PCRIE#R

GPI SuMPO EPD Japan General Program Instructions v.2.1.1
PCR&TR —BRK
PCREFES PA-242159-AG-07
PCREZTE H 20235/ 10H

VEI-/RVEER (FiE) LFE @ (—BHEIEAYIT IR EHERE)
PCRAZNHAMR 202845A9H

PCRELT % R R AY AT TR
> MREEIEER
1SO14025 % TMNS021930:2007 [CHiE>T- 5B = & EE
o T B A
BRELOTEAE g REACES | REMECL . EPDYRT LRI
5= R 5= R & BE = ERT
REEE (FE) EEE (NEEEEE
> FEHLIRIG
B 1SO14040:2006 B 1SO14044:2006 [ 1SO14067:2018
ZEHLIRE B 1S014025:2006 Bl 1S021930:2007 1 1S021930:2017
[] EN15804+A2 [J] EN50693:2019 1 ISO/IEC63366:2025

EPDICEEHOEHR RV EPDICREHOIBRICAT IRIBEERICOVTOEEFEPDEVSEEEN T ST, EPDOARICEIT 3B &, HEREIEICOL
Tld. EPDEVEEEZE L TEMVEDELESL,

EPDDLLER (T, R B ADIAEE T DICE BLE L TERINAFNERSAN D, BRERICBIZEMOS1IV10) 24 EZ B, BRERCH
WTRIEORZRERELEYTUAZERL VWAL ENHYET, EPDOLLEDIRICE B INERERAESMEATIPCRES B LTS,

EPDﬁ\Ezﬁunguu\é% . R SHEEEEAIH Y TITONARTNISEYE A,
%%’sEﬁ‘f*%(i&é(iﬁﬁﬂﬂ’méﬂ*éf? BIEORESCLVERBEADZEE IR IITONZEOTIEHY A, Fi-. EELERERRE

NOEFHBEEORSEPR2N RMELZRBLTNSNE) (YAZIHE GREPARICENZTOREEREINE) 2EERIEOTEHYEE

Ao
MEHEHWIREEDS S, 7171 7B MBS R MO T TVA TIAIRY U D HBEEIFHR. REVEEFMN. HNJ0-CE T HRBIFH
[FFEOERIOOVTOIERTREHYE A,

OEPDENSEEE R
BEEL BES FAVAA—VIEFt A1t BtoBEE)-T RBEEED
{ERT HRLAAXEBH2 TE16-1 77 /K- ANI Y 5-CIV4F
MWEahEsk 022-253-7095
LCAREEME (FTE) i (kXatovy)
wEE: (UI-7) 7,760  (B{F) 2,315 (2024FE125H7)
ALFTEH - T980-8510 BHEMAEHHEX AIF2-12-1
BEEBE HERAROME- 8IS - RFEEEERKLL EARITLEDBAVEBKARE, RE. AVLE
. B=AGEERLER, BERMNCEE - URRAYNI-VEFE BE. FE (hE)
BECEHORENSEFT S,


https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/

%% S) SUMPO-EPD-2512-51-1 SuMPO

Environmental Product Declaration for Raised Floor Wood Core 5000N GFW-5 .. E p D

JAPAN

VERIFIED

Q& LIFIR
RBIR OA707 7% RI75000N GFW-5
B )Ltk J=NIVIRRIL © GFW-5N, BEEA/SRIL @ GFW-5K
BUMEAEE R TOZERERER. EBROZBEHIE, TR @15 - LANEC R EUUNEEsE IR i,
BGHESE  23.5kg/m2 mERE -

ATAABRED—MEBICEN T, REEFEXIFLDD, EERELKR T ZRICININT 21260
DZERELTUER,
e JU=T02AI07 TE[IJU-7IEZX707 DHEEEFFM2022.03 ] (LR E SN B ETE 4%
(5000N) . MEEMHEZHIS
FH 504
ERZHE meEhY0JICEESS
P — BRIV -ME - IV -MEOEHOMAFERERFEL. TMAEH PR
SEEAREIE T BD TR, it ERT," ERRME N E EDAFEREK" < 20224 >
BET M~ (BERS) FE (K& I35
NRIVESE - SE © /-VISRIV GFW-5N / BIO/SR)L GFW-5K
(=R R2)3EFEANRIIETIM2)
S mitE FHF% © 50mmx50mmx19.2mm
YHESE : 50mm ~ 250mm
i & : 5000N(500kgf) ZFE5mm LULT

fEITTHA https://www.irisohyama.co.ip/b2b/kensou/products/oa—floor/wood-core/

Smtk HmOMS

[k

@K RUMEICRET B ER

BRBRER & (%) BE
AR RXyF IR (VRIVER) 37% 8.4 kg
IN=T47)ik=F (JSRILER) 51% 115 kg
A (SRIVER) 2.8% 0.6 kg
AF-) (ZHFERD) 5.9% 1.3 kg
Z0ft 2.5% 0.6 kg
DEMBRER & (%) BE
ER-)b 12% 0.1 kg
P AT 85% 0.9 kg
TIAFvI B A EEM 3.7% 0.04 kg
OLEYHRKRETEE
IEH EEE (kg-0) &HE (kg-CO: eq)

HmblYOEYHREKRREFTE - -
REHTICDIZIEEMOEYHREREZERE - -


https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/
https://www.irisohyama.co.jp/b2b/kensou/products/oa-floor/wood-core/

23 EE) SUMPO-EPD-2512-51-1 SuMPO

Environmental Product Declaration for Raised Floor Wood Core 5000N GFW-5 .. E |

VERIFIED

OLCA BEIER
>EPDY1 TI5E#R
BRA(F | [ H-#g B J-TEE 0 2R=E
EPDYAF  PARIAT W EBEYAE O &Y+
BRAE | O SEE B NEFSE O R&fE O FERME
OEE L OF e 70-11
o .. PCR6-8[XHEMOBINRAZLIOBEN LV ALSGRA—RA0/ R, BES
*ffé%;;ﬁg&?ﬁ;’ B (BY) OXBMAMERAINLSD. HRET BT EMOEREEARICEZNEFY
BEERVTEELTS,
o o ABEOR—HRONRIVTHLT, T - BEHOESI[E50~250mmOIENFES
*fi%;‘f%g;;f;f 3. REBRIOXHH-MEMTE, FHHTHSARERDEBROEAROHD RS
e ML agy 0T BNREALEOAMMERMEOLCAATHERETHMEIHL 0~ 110% ORI

L ETN
EHEZEPDOFHEA R—EHRORICHL BEdmE (RS OXFHFH-#HBHINERTES,

> LCARSEIEIR
==LVl m?2
TEEMLULYOER
(mEAoRERE) 20K
EEI0- (WERMEBLTLD
CHELESE)
JATLESR [0 Cradle-to Gate M Cradle-to-Gate with options | [ Cradle-to-Grave
LCAY I hIIT MiLCA for EPD Ver3.2.0.0
LCIT—9R -2 IDEAV3.1
B ETIV SUEZED @ IPCCEORTHEREE(PCC,20214F) . ZOMOESESEE, : LIME2
ZOMONYIITIIRT-5 -
ZRT-HmE GPICHRED ZRT-I RBEHELET-IE2BWTEEE1To.

—RT-FUINEH S KETH

—RT—-FUNEEHAR 2023FE1A~12BD1ERBDT-4

EYHBRERFZOYELN W 0/0770-F O -1/+1770-F
ESR 3 B EPHEOFHNRENIVIA O Z0ft

BHEHIIC EE -

9218k BAB -

FETT -
> HENRERE
EFRERFE *E
3 U Y ELV RS T Epes 7 7201/29
EM IS ERPE TE L ERFE GhiEE Ak FRARER P& i
Al | A2 A3 A4 A5 BT B2 B3 B4 B> B6 B7 Cl C2 C3 C4 D
B I 2] T B g0
Mo % % i b |k | s Z v = 9
g 8" oA B OE K B E | X v @m . /I R/ g
o o & o I B & & #H & | [ ORI N0) w5
A @ i e " L W= a4 e
' % = % B L
R RN T N N I I I N N R
B EENR - HENRS



SuMPO

JAPAN

BHES) SUMPO-EPD-2512-51-1 E p D
Environmental Product Declaration for Raised Floor Wood Core 5000N GFW-5 ..
VERIFIED

>707-v3v

AEETHE. GPICE&HOFIETTOCAOM MBS TO-T -V 3V %EiRET LI,

LEZEROHETIZTHE AZERUANOYEBNEEORLIZHRLHEMRZEELTEY, TOLAOM A LICL370
T-v3avEE RS, WEETDT-VaVPEETH LS. ARERRUHEROEFESHEICLIRFMETOT-23
VEEMLE,

>y b4

AREPDTEAY A TFATOTVAEL,

>YRATLIER

GPIRUPCRICEDIE, MROFIIFMVIERBSEEMELEERRE (V1)L [A1]EMHHOFEE, [A2] THADHE,
[AS)4E, [AMAIEIIRIBADEHE) LUT, BRIMNYATLERE100ETH S,

>IFUA
TJ1-)b B
—RTF-IOINENRE LR BEYO&HETOTACDONTIL, HXIEE R U#HEFER - BHELCON

A2, A3, A4 N - Sri o s S
T, PCROB1. #niXEREE, B2 BXFRESVEHRY T UAZEISRE L,

V

EHEFUYT

KETIHOEETOVRCDOVNTEL, IDEAVZITAHES, hEARHKME, IEA 2015107 -92BVNTEEEITO,



Z$3%E) SUMPO-EPD-2512-51-1 SuMPO

Environmental Product Declaration for Raised Floor Wood Core 5000N GFW-5 .. E I:,AQ

VERIFIED

>3417947)70-K

AL-3:BUE R EEA;;B%
[ ammnme | [azmmsie] | ABBUET A2 X | |[[aes2 ] | a6
[ eanms my K a7 oms
{ gfi”@ﬁij' e [mw [ 7o o] ma {7y ra7 HH ﬁfi;’;i
( e
i%ﬁinﬂégﬁmﬁm @ xR )

B[ BEdKR 70X |  BEdRATOER | AHH® )




BHES) SUMPO-EPD-2512-51-1 Su MPO

Environmental Product Declaration for Raised Floor Wood Core 5000N GFW-5 ' E o &S P -’
VERIFIED
BEERR
>I17Y1 IV &5 HbE R
(mEmEEE [A2)EnE  [A3)EE  namrmsom: D ERH

SUREH kg-CO.eq = 3.89E+01 | 2.34E+00 | 3.65E+00 @ 6.65E+00 -

AV BHIE kg-CFC-11eq 5.12E-06 | 3.08E-11 = 2.96E-07 = 8.57E-11 -

{2 (4 kg-SOzeq = 2.69E-02 = 7.07E-03 | 6.95E-02 = 1.80E-02 -

AT E kg-SO.eq | 1.81E-02 = 2.66E-03 = 4.48E-02 = 6.78E-03 -

HALEAXVIVNER | kg-CoHeeq | 7.52E-04 = 1.54E-05 5.46E-06 = 4.06E-05 -
BECZWEFEDPAY) | kg-CeHeeq = 2.09E-02  1.16E-05 = 2.83E-04 = 3.30E-05 -
BESHWESYE)  kg-CeHeeq = 4.32E-04 | 7.56E-06 1.98E-06 = 2.16E-05 -

KELEREREM kg-CeHeeq = 2.55E-01 | 3.57E-07 | 4.28E-04 = 9.70E-07 -
BEE L RES M kg-CeHeeq = 1.99E+00 = 6.02E-06 = 5.85E-03 = 1.68E-05 -
EREL kg-PO.* eq 4.96E-03 = 2.40E-11  3.87E-07 = 6.80E-11 -
& A R GEERE) m?/£ 2.11E+01 = 1.78E-01  1.67E-02 = 4.51E-01 -
+ A A (B E) m?/5 8.03E-03 | 3.57E-03 = 4.36E-04 = 9.02E-03 -
BREE kg-Sbeq = 2.99E-03 = 9.74E-06 = 7.80E-06 = 2.78E-05 -

>J1TY1IIWAIRY M) 53 B E B R

(anEmsmz [A2)E5%E  [A3)EE  wasTmsiom: D =EFR4
FBERREER kg | 1.55E+01 2.30E-06 @ 6.34E-02 @ 6.41E-06 -
FEBAERTREIRILE - kg | 1.69E+01 @ 7.14E-01 | 1.35E+00 2.04E+00 -
FEEEAREITIY- MJ | 5.98E+02  3.20E+01  3.94E+071  9.15E+01 -
H4AEMREER kg = 1.80E+01 5.85E-07 3.19E-03 1.63E-06 -
BAREEIRILF- MJ | 3.84E+01 | 7.96E-04 | 7.52E+00 2.22E-03 -
WIKDEE m*® | 1.95E+01 4.68E-05 6.35E-04 = 1.30E-04 -

BEH, CO2(LBEIRM%), A=, T4E| kg | 3.60E+01 | 2.24E+00 @ 2.98E+00  6.37E+00 -
HIR, R, 44.7M)/kg, BESL, SERERREIFNVY - kg | 3.38E+00 = 7.02E-01 & 6.14E-02 = 2.01E+00 -
P, ERUEERLAY, KR, ~SE| kg @ 6.13E-07 | 1.81E-14 | 7.87E-10 = 5.05E-14 -

> BEZEYBRIEER
(agme [A2]EX  [A3]EhE  waktascon:s D &EHRH
BEREEY kg | 0.0.E+00 @ 0.0.E+00 @ 3.0.E-03 = 0.0.E+00 -
EEREY kg = 1.79E-01 | 1.99E-08 3.81E-01 5.55E-08 -
—RREEY) 1BIIY kg | 830E-09 3.23E-17  1.48E-13  9.06E-17 -
EEEREEY BuY kg = 1.79E-01 | 1.99E-08 3.81E-01 5.55E-08 -
KIMTHMIWICBIBEEYEERLTVET,
>HA70-ICBT 3REER
(A1) AR = [AZ] Bk [AB] HIE  wasTREsomz D =R
BRI TR 20 kg - - - - -
UYL kg - - - - -
IRIVF-EUR AR kg - - - - -
BEEDDISOBEHEIRILF- M) ] ) ) ) .

(IRIF-EUNE = 60%)
FEEY DB REWEIASE | kg
(IRIF-[EUREH
$<60%) ENXI?‘“/:‘;\‘_ MJ - - - - -
BEEMI DT PP
(EEpoEcyy FRPELLNE kg - - - - -
ST BETHANGO .
L) EYRIRILF M)



ZHHBES) SUMPO-EPD-2512-51-1 SuMPO

Environmental Product Declaration for Raised Floor Wood Core 5000N GFW-5 .. E I 3 AQ

VERIFIED

>LCARERRCEIT S50 A

R - FEBNHOELE TO LA ZRT-YERWTEE LTS,

@ ENNRIEIER
> LCAICREEL Z VB INERE IR R

-1SO 14001:2015 FRELENS Ti5(CTELE

>HEEYEICRETS1ER
BEYEL CAS No. HAHINZEEL (IR 0SE

R ING - e IOV A L= 10) €
OHENER

@&k

+1SO14025:2006 Environmental labels and declarations — Type Ill environmental declarations — Principles and
procedures

+1SO14040:2006 Environmental management - Life Cycle Assessment - Principles and framework
+1SO14044:2006 Environmental management - Life Cycle Assessment - Requirements and guidelines

+1SO 21930:2007 Sustainability in building construction — Environmental declaration of building products



